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There are 18 apples, 21
pears and 19 bananas in
some boxes of fruit.

How many pieces of fruit
are there altogether?
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I think of a number, double
it and add 5.

The answer is 35.

What was my number?
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There are 19 books on the
top shelf and 32 books on
the bottom shelf.
24 of the books are
removed.
How many books are left?
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A spider has 8 legs.
How many legs do 5
spiders have?

Now work out how many
legs 6 spiders have.
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A box holds 35 nuts.
Hows many nuts are left
if you eat 17?
How many nuts are there
in 3 boxes?
How many boxes are needed
to hold 70 nuts?
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I think of a number, then
subtract 12.

The answer is 26.

What was my number?
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